Q5 Match SF 283 03 37

9mmx 19,9 mm x 21 Rev. q
Katalog Nr.: 283 00 01, 283 01 41, 283 03 53, 283 04 18, 283 64 91, 283 73 58, 283 73 66, 283 73 74,
283 75 36, 284 07 66, 284 28 82, 284 28 91, 284 69 42, 284 69 51, 284 70 94, 284 45 24, 284 45 32,
284 45 41, 284 45 59, 284 45 67, 284 45 75, 284 45 83, 284 45 91, 284 46 05, 284 46 13, 284 46 21,
284 46 30, 284 63 81, 284 63 90, 284 64 03, 284 64 11, 284 98 61

Stand: 16.06.2020 AM 19594 Seite 1 von 15



Q5 Match SF 283 03 37
9mmx 19,9 mm x 21 Rev. q
Standardteile
IFE?J’;#Nr. :z:t’;'l;(#e I-NF. Benennung Designation PG
1.1 2698331 Schraube Korn Screw, front sight B
1.2 - Siehe modellspezifische Tabelle See model-specific table
3 - Siehe modellspezifische Tabelle See model-specific table
5 2813432 | Auszieher Extractor S
6 2627582 | Auszieherstift kpl. Extractor plunger assembly E
6.1 2627574 Feder zum Auszieherstift Spring for extractor plunger A
6.2 2627566 | Auszieherstift Extractor plunger A
7 2624214 Druckfeder zu Auszieher Spring for extractor A
71 2805642 Magazinhalterfeder Spring for magazine release A
8 - Siehe modellspezifische Tabelle See model-specific table
11 2804255 Federstutze Striker spring keeper C
12 2627370 Schlagfeder Striker spring A
13 2627353 Stutzhilse Striker guide A
14 2627337 Rickspringfeder Striker return spring A
15 2807998 | Schlagbolzen kpl. Striker assembly A1
15.1 2807921 | Schlagbolzen Striker X
16 - Siehe modellspezifische Tabelle See model-specific table
18 2811031 Schlagbolzensicherung kpl. Safety plunger assembly H
18.1 2762781 Feder zu Schlagbolzensicherung Spring for safety plunger A
18.2 2840685 Schlagbolzensicherung Safety plunger F
19 - Siehe modellspezifische Tabelle See model-specific table
20 2805138 | Verschlusskappe Slide end cap M
21 2830248 Schliel¥federeinheit kpl Guide rod assembly X
22 2625458 Spannstift 3x28 Pin 3x28 A
24 - Siehe modellspezifische Tabelle See model-specific table
25 2770024 | Fanghebel kpl. AM Slide stop lever assembly AM F1
28.1 2783860 0O-Ring zum Laufhalter O-ring for take down lever A
28.2 2846632 | Laufhalter Take down lever R1
29 - Siehe modellspezifische Tabelle See model-specific table
29.1 2830272 | Laufauflager Locking block I
30 2830051 Fanghebelfeder Slide stop lever spring A
31 2762838 | Spannstift 3x24 Pin 3x24 A
32 - Siehe modellspezifische Tabelle See model-specific table
32.1 2698307-NA | Stitze Single action lever M
32.2 2624672 Feder zur Stitze Spring for single action lever A
32.3 - Siehe modellspezifische Tabelle See model-specific table
324 2624567 Feder zum Fangstiick Spring for single action sear A
32.5 - Siehe modellspezifische Tabelle See model-specific table
32.6 2624541 Stift zum Fangstiick Sear pin A
32.7 2656477 Hilse zum Abzuggehause Single action lever pin C
32.8 2813424 | Verstellbare Steuerung Adjustable trigger bar guide A
33 - Siehe modellspezifische Tabelle See model-specific table
34 2830116 Einlage Verschlussfiihrung Insert A
35 2788772 | Spannstift 4x16 Pin 4x16 A
36 2795094 | Magazinhalter Magazine release P
Legende:
AFC  Anti Friction Coating ET Ersatzteil mit Waffennummer / spare part with serial number
AM Ambidextrous kpl. komplett / assembly
NS Night sights K Bestimmungen des Waffengesetzes beachten (Erwerb, Beschuss) /
PS Phosphor sights subject to firearms law
R Round / Patrone

Stand: 16.06.2020

AM 19594

Seite 2 von 15



Q5 Match SF 283 03 37
9mmx 19,9 mm x 21 Rev. q
IFE?)’sn.#Nr. :ft’;'il.(#e I-NF. Benennung Designation PG
36.1 2790980 Magazinhalterfixierung Magazine release keeper A
38 - Siehe modellspezifische Tabelle See model-specific table
38.1 - Siehe modellspezifische Tabelle See model-specific table
39 - Siehe modellspezifische Tabelle See model-specific table
40 - Siehe modellspezifische Tabelle See model-specific table
41 - Siehe modellspezifische Tabelle See model-specific table
42 - Siehe modellspezifische Tabelle See model-specific table
43 - Siehe modellspezifische Tabelle See model-specific table
51 2811308 | Adapterplatte LPA MPS2 Mount Base, LPA MPS2 z
51.1 2814595 Schraube fiir Adapterplatte Screw, mount base A
52 - Siehe modellspezifische Tabelle See model-specific table
55 2830230 Magazinflihrung Magazine guide A
283 00 01 Q5 Match SF 9x19 WA &
284 69 42 Q5 Match SF 9x19 WAI
(modellspezifische Teile / model-specific parts)
IFE?J’;#NL :::t’;'l;(#e I-NF. Benennung Designation PG
1.2 2830221 | Korn LPA Rot Fiber 2.5 Front sight, LPA Fiber Optic 2.5 Q
3 2830361 | Verschluss 9 mm x 19 ET" Slide 9 mm x 19 ET" M2
8 2814277 | Visier LPA MPS2-06 Rear sight LPA MPS2-06 z
16 2624338 | Abzugfeder Trigger return spring D
19 2830469 |Lauf9x195” ET" Barrel 9x19 5" ET") X1
24 2830094 | Abzug kpl. Trigger assembly A1l
29 2830345 | Griffstiick ET" Frame ET" Y2
32 2821338 | Abzuggehause 9x19 mont. einstellbar Adjustable sear housing assembly G1
32.3 2698293 | Fangstuck Single action sear L
32.5 2821320 | Abzuggehause einstellbar Adjustable sear housing X
33 2848708 | Magazin 9 mm 15R AFC Magazine 9 mm 15R AFC Z
36 2795094 | Magazinhalter Magazine release P
38 2830299 | Griffschale Grip panel |
38.1 2830493 | Schraube zur Griffschale Screw, grip panel A
39 2697904 | Zubringer Follower A
40 2848694 | Magazingehduse AFC Magazine tube AFC Y
41 2670089 | Bodenhalter Magazine butt plate keeper F
42 2848619 | Magazinboden Magazine butt plate A
43 2695111 | Magazinfeder Magazine spring A
283 01 41 Q5 Match SF 9x19 INT
(modellspezifische Teile / model-specific parts)
IFE?J’;#NL :::t’;'l;(#e I-NF. Benennung Designation PG
1.2 2814285 | Korn LPA Rot Fiber 2.9 Front sight, LPA Fiber Optic 2.9 Z
3 2830361 | Verschluss 9 mm x 19 ET" Slide 9 mm x 19 ET" M2
8 2814277 | Visier LPA MPS2-06 Rear sight LPA MPS2-06 z
16 2624338 | Abzugfeder Trigger return spring D
Legende:
AFC  Anti Friction Coating ET Ersatzteil mit Waffennummer / spare part with serial number
AM Ambidextrous kpl. komplett / assembly
NS Night sights K Bestimmungen des Waffengesetzes beachten (Erwerb, Beschuss) /
PS Phosphor sights subject to firearms law
R Round / Patrone

Stand: 16.06.2020

AM 19594

Seite 3 von 15



Q5 Match SF 283 03 37
9mmx 19,9 mm x 21 Rev. q
IFE?JZ’.#Nr. :%.7(#9 I-NF. Benennung Designation PG
19 2830469 |Lauf9x195" ET" Barrel 9x19 5 ET") X1
24 2830094 | Abzug kpl. Trigger assembly A1l
29 2830345 | Griffstiick ET" Frame ET" Y2
32 2821338 | Abzuggehause 9x19 mont. einstellbar Adjustable sear housing assembly G1
32.3 2698293 | Fangstlck Single action sear L
32.5 2821320 | Abzuggehduse einstellbar Adjustable sear housing X
33 2848708 | Magazin 9mm 15R AFC Magazine 9mm 15R AFC Z
36 2795094 | Magazinhalter Magazine release P
38 2830299 | Griffschale Grip panel |
38.1 2830493 | Schraube zur Griffschale Screw, grip panel A
39 2697904 | Zubringer Follower A
40 2848694 | Magazingehause AFC Magazine tube AFC Y
41 2670089 | Bodenhalter Magazine butt plate keeper F
42 2848619 | Magazinboden Magazine butt plate A
43 2695111 | Magazinfeder Magazine spring A
283 03 53 Q5 Match SF Champion 9x19 INT
(modellspezifische Teile / model-specific parts)
gi,:.#Nr. Zi’t’;'i;(#e I-Nr. Benennung Designation PG
1.2 2814285 | Korn LPA Rot Fiber 2.9 Front sight, LPA Fiber Optic 2.9 Z
3 2830361 | Verschluss 9 mm x 19 ET" Slide 9 mm x 19 ET" M2
8 2814277 | Visier LPA MPS2-06 Rear sight LPA MPS2-06 z
16 2624338 | Abzugfeder Trigger return spring D
19 2830469 |Lauf9x195" ET" Barrel 9x19 5 ET") X1
24 2830094 | Abzug kpl. Trigger assembly A1l
29 2830345 | Griffstiick ET" Frame ET" Y2
32 2821338 | Abzuggehause 9x19 mont. einstellbar Adjustable sear housing assembly G1
32.3 2698293 | Fangstuck Single action sear L
32.5 2821320 | Abzuggehduse einstellbar Adjustable sear housing X
32.9 2821362 | Gewindestift M3x5 Pin M3x5 A
33 2835151 | Magazin 9mm 17R AFC Alu Blau Magazine 9mm 17R AFC Alu blue Z
36 2795094 | Magazinhalter Magazine release P
38 2830299 | Griffschale Grip panel |
38.1 2830493 | Schraube zur Griffschale Screw, grip panel A
39 2697904 | Zubringer Follower A
40 2795116 | Magazingehause AFC Magazine tube AFC Y
41 2784807 | Bodenhalter +2 Magazine butt plate keeper +2 C
42 2835169 | Magazinboden +2 Alu Blau Magazine butt plate +2 Alu blue 1
43 2786508 | Magazinfeder +2 Magazine spring +2 A
52 2835177 | Magwell Alu Blau Flared Magwell Alu blue J1
Legende:
AFC  Anti Friction Coating ET Ersatzteil mit Waffennummer / spare part with serial number
AM Ambidextrous kpl. komplett / assembly

NS  Night sights K
PS Phosphor sights
R Round / Patrone

Bestimmungen des Waffengesetzes beachten (Erwerb, Beschuss) /
subject to firearms law

Stand: 16.06.2020 AM 19594 Seite 4 von 15



Q5 Match SF 283 03 37
9mm x 19, 9 mm x 21 Rev. q
283 04 18 Q5 Match SF PRO 9x19 WA &
284 69 51 Q5 Match SF PRO 9x19 WAI
(modellspezifische Teile / model-specific parts)
IFE?J’;#NL :::t’;'l;(#e I-NF. Benennung Designation PG
1.2 2830221 | Korn LPA Rot Fiber 2.5 Front sight, LPA Fiber Optic 2.5 Q
3 2830361 | Verschluss 9 mm x 19 ET" Slide 9 mm x 19 ET" M2
8 2814277 | Visier LPA MPS2-06 Rear sight LPA MPS2-06 Z
16 2624338 | Abzugfeder Trigger return spring D
19 2830469 |Lauf9x195” ET" Barrel 9x19 5" ET") X1
24 2830094 | Abzug kpl. Trigger assembly A1l
29 2830345 | Griffstiick ET" Frame ET" Y2
32 2821338 | Abzuggehduse 9x19 mont. einstellbar Adjustable sear housing assembly G1
32.3 2698293 | Fangstuck Single action sear L
32.5 2821320 | Abzuggehause einstellbar Adjustable sear housing X
33 2830388 | Magazin 9 mm 17R AFC Alu schwarz Magazine 9 mm 17R AFC Alu black Z
36 2795094 | Magazinhalter Magazine release P
38 2830299 | Griffschale Grip panel |
38.1 2830493 | Schraube zur Griffschale Screw, grip panel A
39 2697904 | Zubringer Follower A
40 2795116 | Magazingehduse AFC Magazine tube AFC Y
41 2784807 | Bodenhalter +2 Magazine butt plate keeper +2 C
42 2833042 | Magazinboden +2 Alu Schwarz Magazine butt plate +2 Alu black 1
43 2786508 | Magazinfeder +2 Magazine spring +2 A
52 2833000 | Magwell Alu Schwarz Flared Magwell Alu black J1
283 64 91 Q5 Match SF 9x19 CAN 10R
(modellspezifische Teile / model-specific parts)
IFE?J’;#NL :::t’;'l;(#e I-NF. Benennung Designation PG
1.2 2814285 | Korn LPA Rot Fiber 2.9 Front sight, LPA Fiber Optic 2.9 Z
3 2830361 | Verschluss 9 mm x 19 ET" Slide 9 mm x 19 ET" M2
8 2814277 | Visier LPA MPS2-06 Rear sight LPA MPS2-06 Z
16 2624338 | Abzugfeder Trigger return spring D
19 2830469 |Lauf9x195” ET" Barrel 9x19 5" ET") X1
24 2830094 | Abzug kpl. Trigger assembly A1l
29 2830345 | Griffstiick ET" Frame ET" Y2
32 2821338 | Abzuggehduse 9x19 mont. einstellbar Adjustable sear housing assembly G1
32.3 2698293 | Fangstuck Single action sear L
32.5 2821320 | Abzuggehause einstellbar Adjustable sear housing X
33 2834910 |Magazin 9 mm 10R AFC Magazine 9 mm 10R AFC Z
36 2795094 | Magazinhalter Magazine release P
38 2830299 | Griffschale Grip panel |
38.1 2830493 | Schraube zur Griffschale Screw, grip panel A
39 2759004 | Zubringer Follower A
40 2834901 | Magazingehause 10R AFC Magazine tube 10R AFC Y
41 2618281 | Bodenhalter Magazine butt plate keeper G
42 2785668 | Magazinboden 10R Magazine butt plate 10R E
43 2618257 | Magazinfeder 10R Magazine spring 10R F
Legende:
AFC  Anti Friction Coating ET Ersatzteil mit Waffennummer / spare part with serial number
AM Ambidextrous kpl. komplett / assembly
NS Night sights K Bestimmungen des Waffengesetzes beachten (Erwerb, Beschuss) /
PS Phosphor sights subject to firearms law
R Round / Patrone

Stand: 16.06.2020

AM 19594

Seite 5 von 15



Q5 Match SF 283 03 37
9mmx 19,9 mm x 21 Rev. q
283 73 58 Q5 Match SF 9x21 INT
(modellspezifische Teile / model-specific parts)
IFE?)’sn.#Nr. :ft’;'il.(#e I-NF. Benennung Designation PG
1.2 2814285 | Korn LPA Rot Fiber 2.9 Front sight, LPA Fiber Optic 2.9 Z
3 2830361 | Verschluss 9 mm x 19 ET" Slide 9 mm x 19 ET" M2
8 2814277 | Visier LPA MPS2-06 Rear sight LPA MPS2-06 z
16 2624338 | Abzugfeder Trigger return spring D
19 2841193 |Lauf9x215” ET" Barrel 9x21 5" ET") X1
24 2830094 | Abzug kpl. Trigger assembly A1l
29 2830345 | Griffstiick ET" Frame ET" Y2
32 2821338 | Abzuggehduse 9x19 mont. einstellbar Adjustable sear housing assembly G1
32.3 2698293 | Fangstlck Single action sear L
32.5 2821320 | Abzuggehduse einstellbar Adjustable sear housing X
33 2848708 | Magazin 9 mm 15R AFC Magazine 9 mm 10R AFC Z
36 2795094 | Magazinhalter Magazine release P
38 2830299 | Griffschale Grip panel |
38.1 2830493 | Schraube zur Griffschale Screw, grip panel A
39 2697904 | Zubringer Follower A
40 2848694 | Magazingehause AFC Magazine tube AFC Y
41 2670089 | Bodenhalter Magazine butt plate keeper F
42 2848619 | Magazinboden Magazine butt plate A
43 2695111 | Magazinfeder Magazine spring A
284 73 66 Q5 Match SF Champion 9x21 INT
(modellspezifische Teile / model-specific parts)
IFE?J’;#NL :::t’;'l;(#e I-NF. Benennung Designation PG
1.2 2814285 | Korn LPA Rot Fiber 2.9 Front sight, LPA Fiber Optic 2.9 Z
3 2830361 | Verschluss 9 mm x 19 ET" Slide 9 mm x 19 ET" M2
8 2814277 | Visier LPA MPS2-06 Rear sight LPA MPS2-06 Z
16 2624338 | Abzugfeder Trigger return spring D
19 2841193 |Lauf9x215” ET" Barrel 9x21 5" ET") X1
24 2830094 | Abzug kpl. Trigger assembly A1l
29 2830345 | Griffstiick ET" Frame ET" Y2
32 2821338 | Abzuggehause einstellbar kpl Adjustable sear housing assembly G1
32.3 2698293 | Fangstuck Single action sear L
32.5 2821320 | Abzuggehause einstellbar Adjustable sear housing X
32.9 2821362 | Gewindestift M3x5 Pin M3x5 A
33 2835151 | Magazin 9 mm 17R AFC Alu blau Magazine 9 mm 17R AFC Alu blue Z
36 2795094 | Magazinhalter Magazine release P
38 2830299 | Griffschale Grip panel |
38.1 2830493 | Schraube zur Griffschale Screw, grip panel A
39 2697904 | Zubringer Follower A
40 2795116 | Magazingehduse AFC Magazine tube AFC Y
41 2784807 | Bodenhalter +2 Magazine butt plate keeper +2 C
42 2835169 | Magazinboden +2 Alu blau Magazine butt plate +2 Alu blue 1
43 2786508 | Magazinfeder +2 Magazine spring +2 A
52 2835177 | Magwell Alu blau Flared Magwell Alu blue J1
Legende:
AFC  Anti Friction Coating ET Ersatzteil mit Waffennummer / spare part with serial number
AM Ambidextrous kpl. komplett / assembly
NS Night sights K Bestimmungen des Waffengesetzes beachten (Erwerb, Beschuss) /
PS Phosphor sights subject to firearms law
R Round / Patrone

Stand: 16.06.2020

AM 19594

Seite 6 von 15



Q5 Match SF 283 03 37
9mmx 19,9 mm x 21 Rev. q
283 73 74 Q5 Match SF Champion 9x19 INT Schwarz
(modellspezifische Teile / model-specific parts)
IFE?J’;#NL :::t’;'l;(#e I-NF. Benennung Designation PG
1.2 2814285 | Korn LPA Rot Fiber 2.9 Front sight, LPA Fiber Optic 2.9 Z
3 2830361 | Verschluss 9 mm x 19 ET" Slide 9 mm x 19 ET" M2
8 2814277 | Visier LPA MPS2-06 Rear sight LPA MPS2-06 VA
16 2624338 | Abzugfeder Trigger return spring D
19 2830469 |Lauf9x195” ET" Barrel 9x19 5" ET") X1
24 2830094 | Abzug kpl. Trigger assembly A1l
29 2830345 | Griffstiick ET" Frame ET" Y2
32 2821338 | Abzuggehause 9x19 mont. einstellbar Adjustable sear housing assembly G1
32.3 2698293 | Fangstuck Single action sear L
32.5 2821320 | Abzuggehause einstellbar Adjustable sear housing X
32.9 2821362 | Gewindestift M3x5 Pin M3x5 A
33 2830388 | Magazin 9 mm 17R AFC Alu schwarz Magazine 9 mm 17R AFC Alu black Z
36 2795094 | Magazinhalter Magazine release P
38 2830299 | Griffschale Grip panel |
38.1 2830493 | Schraube zur Griffschale Screw, grip panel A
39 2697904 | Zubringer Follower A
40 2795116 | Magazingehduse AFC Magazine tube AFC Y
41 2784807 | Bodenhalter +2 Magazine butt plate keeper +2 C
42 2833042 | Magazinboden +2 Alu schwarz Magazine butt plate +2 Alu black |
43 2786508 | Magazinfeder +2 Magazine spring +2 A
52 2833000 | Magwell Alu schwarz Flared Magwell Alu black J1
283 75 36 Q5 Match SF Champion 9x19 10R INT
(modellspezifische Teile / model-specific parts)
gi’:#Nr. Zi’t’;'i;(#e I-Nr. Benennung Designation PG
1.2 2814285 | Korn LPA Rot Fiber 2.9 Front sight, LPA Fiber Optic 2.9 Z
3 2830361 | Verschluss 9 mm x 19 ET" Slide 9 mm x 19 ET" M2
8 2814277 | Visier LPA MPS2-06 Rear sight LPA MPS2-06 z
16 2624338 | Abzugfeder Trigger return spring D
19 2830469 |Lauf 9x195” ET" Barrel 9x19 5“ ET" X1
24 2830094 | Abzug kpl. Trigger assembly A1l
29 2830345 | Griffstiick ET" Frame ET" Y2
32 2821338 | Abzuggehduse einstellbar kpl Adjustable sear housing assembly G1
32.3 2698293 | Fangstlck Single action sear L
32.5 2821320 | Abzuggehduse einstellbar Adjustable sear housing X
32.9 2821362 | Gewindestift M3x5 Pin M3x5 A
33 2841126 | Magazin 9 mm 10R AFC Alu blau Magazine 9 mm 10R AFC Alu blue Z
36 2795094 | Magazinhalter Magazine release P
38 2830299 | Griffschale Grip panel |
38.1 2830493 | Schraube zur Griffschale Screw, grip panel A
39 2697904 | Zubringer Follower A
40 2834901 | Magazingehause AFC Magazine tube AFC Y
41 2618281 | Bodenhalter Magazine butt plate keeper G
42 2840952 | Magazinboden -5 Alu blau Magazine butt plate -5 Alu blue 1
Legende:
AFC  Anti Friction Coating ET Ersatzteil mit Waffennummer / spare part with serial number
AM Ambidextrous kpl. komplett / assembly
NS Night sights K Bestimmungen des Waffengesetzes beachten (Erwerb, Beschuss) /
PS Phosphor sights subject to firearms law
R Round / Patrone

Stand: 16.06.2020

AM 19594

Seite 7 von 15



Q5 Match SF 283 03 37
9mmx 19,9 mm x 21 Rev. q
IFE?)’sn.#Nr. :ft’;'il.(#e I-NF. Benennung Designation PG
43 2618257 | Magazinfeder 10R Magazine spring 10R F
52 2835177 | Magwell Alu Blau Flared Magwell Alu blue J1
284 07 66 Q5 Match SF Expert 9x19 INT
(modellspezifische Teile / model-specific parts)
gi’:#Nr. Zi’t’;'i;(#e I-Nr. Benennung Designation PG
1.2 2814285 | Korn LPA Rot Fiber 2.9 Front sight, LPA Fiber Optic 2.9 Z
3 2830361 | Verschluss 9 mm x 19 ET" Slide 9 mm x 19 ET" M2
8 2814277 | Visier LPA MPS2-06 Rear sight LPA MPS2-06 z
16 2832976 | Abzugfeder Trigger return spring (0]
19 2830469 | Lauf 9x19 5" ET" Barrel 9x19 5“ ET" X1
24 2839148 | Expert Abzug kpl. Expert trigger assembly H1
29 2830345 | Griffstiick ET" Frame ET" Y2
32 2841061 | Expert Abzuggehause kpl Expert sear housing assembly G1
32.3 2840758 | Expert Fangstick Expert single action sear J
32.5 2821320 | Abzuggehduse einstellbar Adjustable sear housing X
32.9 2821362 | Gewindestift M3x5 Pin M3x5 A
33 2835151 | Magazin 9 mm 17R AFC Alu blau Magazine 9 mm 17R AFC Alu blue Z
36 2795094 | Magazinhalter Magazine release P
38 2830299 | Griffschale Grip panel |
38.1 2830493 | Schraube zur Griffschale Screw, grip panel A
39 2697904 | Zubringer Follower A
40 2795116 | Magazingehause AFC Magazine tube AFC Y
41 2784807 | Bodenhalter +2 Magazine butt plate keeper +2 C
42 2835169 | Magazinboden +2 Alu blau Magazine butt plate +2 Alu blue 1
43 2786508 | Magazinfeder +2 Magazine spring +2 A
52 2835177 | Magwell Alu blau Flared Magwell Alu blue J1
284 28 82 Q5 Match SF Expert 9x21 INT
(modellspezifische Teile / model-specific parts)
IFE?J’;#NL :::t’;'l;(#e I-NF. Benennung Designation PG
1.2 2814285 | Korn LPA Rot Fiber 2.9 Front sight, LPA Fiber Optic 2.9 Z
3 2830361 | Verschluss 9 mm x 19 ET" Slide 9 mm x 19 ET" M2
8 2814277 | Visier LPA MPS2-06 Rear sight LPA MPS2-06 z
16 2832976 | Abzugfeder Trigger return spring (0]
19 2841193 |Lauf9x215” ET" Barrel 9x21 5" ET") X1
24 2839148 | Expert Abzug kpl. Expert trigger assembly H1
29 2830345 | Griffstiick ET" Frame ET" Y2
32 2841061 | Expert Abzuggehause kpl Expert sear housing assembly G1
32.3 2840758 | Expert Fangstlick Expert single action sear J
32.5 2821320 | Abzuggehause einstellbar Adjustable sear housing X
32.9 2821362 | Gewindestift M3x5 Pin M3x5 A
33 2835151 | Magazin 9 mm 17R AFC Alu blau Magazine 9 mm 17R AFC Alu blue 4
36 2795094 | Magazinhalter Magazine release P
38 2830299 | Griffschale Grip panel |
Legende:
AFC  Anti Friction Coating ET Ersatzteil mit Waffennummer / spare part with serial number
AM Ambidextrous kpl. komplett / assembly
NS Night sights K Bestimmungen des Waffengesetzes beachten (Erwerb, Beschuss) /
PS Phosphor sights subject to firearms law
R Round / Patrone

Stand: 16.06.2020

AM 19594

Seite 8 von 15



Q5 Match SF 283 03 37
9mm x 19, 9 mm x 21 Rev. q
IFE?JZ’.#Nr. :%.7(#9 I-NF. Benennung Designation PG
38.1 2830493 | Schraube zur Griffschale Screw, grip panel A
39 2697904 | Zubringer Follower A
40 2795116 | Magazingehause AFC Magazine tube AFC Y
41 2784807 | Bodenhalter +2 Magazine butt plate keeper +2 C
42 2835169 | Magazinboden +2 Alu blau Magazine butt plate +2 Alu blue 1
43 2786508 | Magazinfeder +2 Magazine spring +2 A
52 2835177 | Magwell Alu blau Flared Magwell Alu blue J1
284 28 91 Q5 Match SF Expert 9x19 10R INT
(modellspezifische Teile / model-specific parts)
IFE?J’;#NL :::t’;'l;(#e I-NF. Benennung Designation PG
1.2 2814285 | Korn LPA Rot Fiber 2.9 Front sight, LPA Fiber Optic 2.9 Z
3 2830361 | Verschluss 9 mm x 19 ET" Slide 9 mm x 19 ET" M2
8 2814277 | Visier LPA MPS2-06 Rear sight LPA MPS2-06 z
16 2832976 | Abzugfeder Trigger return spring (0]
19 2830469 |Lauf9x195” ET" Barrel 9x19 5" ET") X1
24 2839148 | Expert Abzug kpl. Expert trigger assembly H1
29 2830345 | Griffstiick ET" Frame ET" Y2
32 2841061 | Expert Abzuggehause kpl Expert sear housing assembly G1
32.3 2840758 | Expert Fangstlick Expert single action sear J
32.5 2821320 | Abzuggehause einstellbar Adjustable sear housing X
32.9 2821362 | Gewindestift M3x5 Pin M3x5 A
33 2841126 | Magazin 9 mm 10R AFC Alu blau Magazine 9 mm 10R AFC Alu blue VA
36 2795094 | Magazinhalter Magazine release P
38 2830299 | Griffschale Grip panel |
38.1 2830493 | Schraube zur Griffschale Screw, grip panel A
39 2697904 | Zubringer Follower A
40 2834901 | Magazingehduse AFC 10R Magazine tube AFC Y
41 2618281 | Bodenhalter Magazine butt plate keeper G
42 2840952 | Magazinboden -5 Alu blau Magazine butt plate -5 Alu blue 1
43 2618257 | Magazinfeder 10R Magazine spring 10R F
52 2835177 | Magwell Alu blau Flared Magwell Alu blue J1
284 45 24 Q5 Match SF Black Diamond 9x19 WAI
284 45 32 Q5 Match SF Black Diamond 9x19 INT
284 45 41 Q5 Match SF Black Diamond 9x21 INT
(modellspezifische Teile / model-specific parts)
IFE?JZ’.#Nr. :%.7(#9 I-NF. Benennung Designation PG
1.2 2846853 | Korn LPA Front sight, LPA
3 - Nicht als Ersatzteil verfligbar No spare part available
8 2742976 | Visier LPA TR28SS07 Rear sight, LPA TR28SS07 o1
16 2624338 | Abzugfeder Trigger return spring D
19 - Nicht als Ersatzteil verfligbar No spare part available
24 2846349 | Dynamic Performance Abzug schwarz Dynamic Performance trigger black M1
29 - Nicht als Ersatzteil verfiigbar No spare part available
Legende:
AFC  Anti Friction Coating ET Ersatzteil mit Waffennummer / spare part with serial number
AM Ambidextrous kpl. komplett / assembly
NS Night sights K Bestimmungen des Waffengesetzes beachten (Erwerb, Beschuss) /
PS Phosphor sights subject to firearms law
R Round / Patrone

Stand: 16.06.2020

AM 19594

Seite 9 von 15



Q5 Match SF 283 03 37
9mmx 19,9 mm x 21 Rev. q
IFE?JZ’.#Nr. :%.7(#9 I-NF. Benennung Designation PG
32 2849542 | Dynamic Performance Abzuggehause kpl | Dynamic Performance sear housing assembly H1
32.3 2840758 | Expert Fangstlick Expert single action sear J
32.5 2821320 | Abzuggehause einstellbar Adjustable sear housing X
32.9 2821362 | Gewindestift M3x5 Pin M3x5 A
33 2846497 | Magazin 9 mm 17R Stahl Black Diamond Magazine 9 mm 17R steel Black Diamond Z
36 2795094 | Magazinhalter Magazine release P
38 2846772 | Griffschale Alu dunkelbraun Grip panel, dark brown 1
38.1 2846829 | Schraube zur Griffschale Screw, grip panel C
39 2697904 | Zubringer Follower A
40 2795116 | Magazingehduse AFC Magazine tube AFC Y
41 2784807 | Bodenhalter +2 Magazine butt plate keeper +2 C
42 2846501 | Magazinboden +2 Stahl Black Diamond Magazine butt plate +2 steel Black Diamond
43 2786508 | Magazinfeder +2 Magazine spring +2 A
284 45 59 Q5 Match SF Black Diamond 10R 9x19 INT
(modellspezifische Teile / model-specific parts)
gi,:.#Nr. Zi’t’;'i;(#e I-Nr. Benennung Designation PG
1.2 2846853 | Korn LPA Front sight, LPA
3 - Nicht als Ersatzteil verfligbar No spare part available
8 2742976 | Visier LPA TR28SS07 Rear sight, LPA TR28SS07 o1
16 2624338 | Abzugfeder Trigger return spring D
19 - Nicht als Ersatzteil verfligbar No spare part available
24 2846349 | Dynamic Performance Abzug schwarz Dynamic Performance trigger black M1
29 - Nicht als Ersatzteil verfligbar No spare part available
32 2849542 | Dynamic Performance Abzuggehduse kpl | Dynamic Performance sear housing assembly H1
32.3 2840758 | Expert Fangstick Expert single action sear J
32.5 2821320 | Abzuggehduse einstellbar Adjustable sear housing X
32.9 2821362 | Gewindestift M3x5 Pin M3x5 A
33 2841002 | Magazin 9 mm 10R Alu schwarz Magazine 9 mm 10R alu black z
36 2795094 | Magazinhalter Magazine release P
38 2846772 | Griffschale Alu dunkelbraun Grip panel, alu, dark brown 1
38.1 2846829 | Schraube zur Griffschale Screw, grip panel C
39 2759004 | Zubringer Follower A
40 2834901 | Magazingehause 10R AFC Magazine tube 10R AFC Y
41 2618281 | Bodenhalter Magazine butt plate keeper G
42 2840944 | Magazinboden -5 Alu schwarz Magazine butt plate -5 alu black
43 2618257 | Magazinfeder 10R Magazine spring 10R F
284 45 67 Q5 Match SF Black Tie 9x19 WAI
284 45 75 Q5 Match SF Black Tie 9x19 INT
(modellspezifische Teile / model-specific parts)
IFE?J’;#NL :::t’;'l;(#e I-NF. Benennung Designation PG
1.2 2846853 Korn LPA Front sight, LPA
3 - Nicht als Ersatzteil verfiigbar No spare part available
8 2742976 | Visier LPA TR28SS07 Rear sight, LPA TR28SS07 o1
Legende:
AFC  Anti Friction Coating ET Ersatzteil mit Waffennummer / spare part with serial number
AM Ambidextrous kpl. komplett / assembly
NS Night sights K Bestimmungen des Waffengesetzes beachten (Erwerb, Beschuss) /
PS Phosphor sights subject to firearms law
R Round / Patrone

Stand: 16.06.2020

AM 19594

Seite 10 von 15



Q5 Match SF 283 03 37
9mmx 19,9 mm x 21 Rev. q
IFE?)’sn.#Nr. :ft’;'il.(#e I-NF. Benennung Designation PG
16 2624338 | Abzugfeder Trigger return spring D
19 2830469 | Lauf 9x195” ET" Barrel 9x19 5" ET X1
24 2846349 | Dynamic Performance Abzug schwarz Dynamic Performance trigger black M1
29 - Nicht als Ersatzteil verfligbar No spare part available
32 2849542 | Dynamic Performance Abzuggehduse kpl | Dynamic Performance sear housing assembly H1
32.3 2840758 | Expert Fangstick Expert single action sear J
32.5 2821320 | Abzuggehduse einstellbar Adjustable sear housing X
32.9 2821362 | Gewindestift M3x5 Pin M3x5 A
33 2846527 | Magazin 9 mm 17R Stahl Stinox Magazine 9 mm 17R steel Stinox Z
36 2846012 Magazinhalter, extended, rund, schwarz Magazine release, extended, round, black E1
38 2846659 | Griffschale Alu schwarz Grip panel, alu, black 11
38.1 2846781 | Schraube zur Griffschale Screw, grip panel A
39 2697904 | Zubringer Follower A
40 2795116 | Magazingehause AFC Magazine tube AFC Y
41 2784807 | Bodenhalter +2 Magazine butt plate keeper +2 C
42 2846535 | Magazinboden +2 Stahl Stinox Magazine butt plate +2 steel Stinox
43 2786508 | Magazinfeder +2 Magazine spring +2 A
52 2837587 | Magwell Stahl schwarz Flared Magwell steel black
284 45 83 Q5 Match SF Black Tie 9x21 INT
(modellspezifische Teile / model-specific parts)
IFE?J’;#NL :::t’;'l;(#e I-NF. Benennung Designation PG
1.2 2846853 | Korn LPA Front sight, LPA
3 - Nicht als Ersatzteil verfligbar No spare part available
8 2742976 | Visier LPA TR28SS07 Rear sight, LPA TR28SS07 o1
16 2624338 | Abzugfeder Trigger return spring D
19 2841193 |Lauf9x21 5" ET" Barrel 9x21 5” ET X1
24 2846349 | Dynamic Performance Abzug schwarz Dynamic Performance trigger black M1
29 - Nicht als Ersatzteil verfligbar No spare part available
32 2849542 | Dynamic Performance Abzuggehause kpl | Dynamic Performance sear housing assembly H1
32.3 2840758 | Expert Fangstlick Expert single action sear J
32.5 2821320 | Abzuggehause einstellbar Adjustable sear housing X
32.9 2821362 | Gewindestift M3x5 Pin M3x5 A
33 2841002 | Magazin 9 mm 10R Alu schwarz Magazine 9 mm 10R alu black VA
36 2846012 Magazinhalter, extended, rund, schwarz Magazine release, extended, round, black E1
38 2846659 | Griffschale Alu schwarz Grip panel, alu, black 1
38.1 2846781 | Schraube zur Griffschale Screw, grip panel A
39 2759004 | Zubringer Follower A
40 2834901 | Magazingehause 10R AFC Magazine tube 10R AFC Y
41 2618281 | Bodenhalter Magazine butt plate keeper G
42 2840944 | Magazinboden -5 Alu schwarz Magazine butt plate -5 alu black
43 2618257 | Magazinfeder 10R Magazine spring 10R F
52 2837587 | Magwell Stahl schwarz Flared Magwell steel black
Legende:
AFC  Anti Friction Coating ET Ersatzteil mit Waffennummer / spare part with serial number
AM Ambidextrous kpl. komplett / assembly
NS Night sights K Bestimmungen des Waffengesetzes beachten (Erwerb, Beschuss) /
PS Phosphor sights subject to firearms law
R Round / Patrone

Stand: 16.06.2020

AM 19594

Seite 11 von 15



Q5 Match SF 283 03 37
9mmx 19,9 mm x 21 Rev. q
284 45 91 Q5 Match SF Black Tie 10R 9x19 INT
(modellspezifische Teile / model-specific parts)
IFl;(eJ’;#NI’. :::t’;'l;(#e I-NF. Benennung Designation PG
1.2 2846853 | Korn LPA Front sight, LPA
3 - Nicht als Ersatzteil verfiigbar No spare part available
8 2742976 | Visier LPA TR28SS07 Rear sight, LPA TR28SS07 o1
16 2624338 | Abzugfeder Trigger return spring D
19 2830469 |Lauf 9x19 5" ET" Barrel 9x19 5” ET X1
24 2846349 | Dynamic Performance Abzug schwarz Dynamic Performance trigger black M1
29 - Nicht als Ersatzteil verfiigbar No spare part available
32 2849542 | Dynamic Performance Abzuggehause kpl | Dynamic Performance sear housing assembly H1
32.3 2840758 | Expert Fangstlick Expert single action sear J
32.5 2821320 | Abzuggehause einstellbar Adjustable sear housing X
32.9 2821362 | Gewindestift M3x5 Pin M3x5 A
33 2841002 | Magazin 9 mm 10R Alu schwarz Magazine 9 mm 10R alu black VA
36 2846012 Magazinhalter, extended, rund, schwarz Magazine release, extended, round, black E1
38 2846659 | Griffschale Alu schwarz Grip panel, alu, black 1
38.1 2846781 | Schraube zur Griffschale Screw, grip panel A
39 2759004 | Zubringer Follower A
40 2834901 | Magazingehause 10R AFC Magazine tube 10R AFC Y
41 2618281 | Bodenhalter Magazine butt plate keeper G
42 2840944 | Magazinboden -5 Alu schwarz Magazine butt plate -5 alu black
43 2618257 | Magazinfeder 10R Magazine spring 10R F
52 2837587 | Magwell Stahl schwarz Flared Magwell steel black
284 46 05 Q5 Match SF The Patriot 9x19 WAI
284 46 13 Q5 Match SF The Patriot 9x19 INT
284 46 21 Q5 Match SF The Patriot 9x21 INT
(modellspezifische Teile / model-specific parts)
gi,:.#Nr. th';.i;(#e I-Nr. Benennung Designation PG
1.2 2846853 | Korn LPA schwarz guillochiert 2.9 Front sight, LPA black serrated 2.9
3 - Nicht als Ersatzteil verfligbar No spare part available
8 2742976 | Visier LPA TR28SS07 Rear sight, LPA TR28SS07 o1
16 2624338 | Abzugfeder Trigger return spring D
19 - Nicht als Ersatzteil verfligbar No spare part available
24 2846349 | Dynamic Performance Abzug schwarz Dynamic Performance trigger black M1
29 - Nicht als Ersatzteil verfligbar No spare part available
32 2849542 | Dynamic Performance Abzuggehduse kpl | Dynamic Performance sear housing assembly H1
32.3 2840758 | Expert Fangstick Expert single action sear J
32.5 2821320 | Abzuggehduse einstellbar Adjustable sear housing X
32.9 2821362 | Gewindestift M3x5 Pin M3x5 A
33 2846543 | Magazin 9 mm 17R Stahl Wanit Magazine 9 mm 17R steel Wanit 4
36 2795094 | Magazinhalter Magazine release P
38 2846659 | Griffschale Alu schwarz Grip panel, alu, black 1
38.1 2846799 | Schraube zur Griffschale Screw, grip panel A
39 2697904 | Zubringer Follower A
Legende:
AFC  Anti Friction Coating ET Ersatzteil mit Waffennummer / spare part with serial number
AM Ambidextrous kpl. komplett / assembly
NS Night sights K Bestimmungen des Waffengesetzes beachten (Erwerb, Beschuss) /
PS Phosphor sights subject to firearms law
R Round / Patrone

Stand: 16.06.2020

AM 19594

Seite 12 von 15



Q5 Match SF 283 03 37
9mmx 19,9 mm x 21 Rev. q
IFE?)’sn.#Nr. :ft’;'il.(#e I-NF. Benennung Designation PG
40 2795116 | Magazingehause AFC Magazine tube AFC Y
41 2784807 | Bodenhalter +2 Magazine butt plate keeper +2 C
42 2846551 | Magazinboden +2 Stahl Wanit Magazine butt plate +2 steel Wanit
43 2786508 | Magazinfeder +2 Magazine spring +2 A
52 2837587 | Magwell Stahl schwarz Flared Magwell steel black
284 46 30 Q5 Match SF The Patriot 10R 9x19 INT
(modellspezifische Teile / model-specific parts)
IFE?)’sn.#Nr. :ft’;'il.(#e I-NF. Benennung Designation PG
1.2 2846853 | Korn LPA Front sight, LPA
3 - Nicht als Ersatzteil verfligbar No spare part available
8 2742976 | Visier LPA TR28SS07 Rear sight, LPA TR28SS07 o1
16 2624338 | Abzugfeder Trigger return spring D
19 - Nicht als Ersatzteil verfligbar No spare part available
24 2846349 | Dynamic Performance Abzug schwarz Dynamic Performance trigger black M1
29 - Nicht als Ersatzteil verfligbar No spare part available
32 2849542 | Dynamic Performance Abzuggehduse kpl | Dynamic Performance sear housing assembly H1
32.3 2840758 | Expert Fangstick Expert single action sear J
32.5 2821320 | Abzuggehduse einstellbar Adjustable sear housing X
32.9 2821362 | Gewindestift M3x5 Pin M3x5 A
33 2841002 | Magazin 9 mm 10R Alu schwarz Magazine 9 mm 10R alu black VA
36 2795094 | Magazinhalter Magazine release P
38 2846659 | Griffschale Alu schwarz Grip panel, alu, black 1
38.1 2846799 | Schraube zur Griffschale Screw, grip panel A
39 2759004 | Zubringer Follower A
40 2834901 | Magazingehause 10R AFC Magazine tube 10R AFC Y
41 2618281 | Bodenhalter Magazine butt plate keeper G
42 2840944 | Magazinboden -5 Alu schwarz Magazine butt plate -5 alu black
43 2618257 | Magazinfeder 10R Magazine spring 10R F
52 2837587 | Magwell Stahl schwarz Flared Magwell steel black
284 63 81 Q5 Match SF Vintage 9x19 WAI
284 63 90 Q5 Match SF Vintage 9x19 INT
(modellspezifische Teile / model-specific parts)
IFE?J’;#NL :::t’;'l;(#e I-NF. Benennung Designation PG
1.2 2846853 | Korn LPA Front sight, LPA
3 - Nicht als Ersatzteil verfligbar No spare part available
8 2742976 | Visier LPA TR28SS07 Rear sight, LPA TR28SS07 o1
16 2624338 | Abzugfeder Trigger return spring D
19 2830469 |Lauf 9x19 5" ET" Barrel 9x19 5” ET X1
24 2846349 | Dynamic Performance Abzug schwarz Dynamic Performance trigger black M1
29 - Nicht als Ersatzteil verfligbar No spare part available
32 2849542 | Dynamic Performance Abzuggehduse kpl | Dynamic Performance sear housing assembly H1
32.3 2840758 | Expert Fangstick Expert single action sear J
32.5 2821320 | Abzuggehause einstellbar Adjustable sear housing X
Legende:
AFC  Anti Friction Coating ET Ersatzteil mit Waffennummer / spare part with serial number
AM Ambidextrous kpl. komplett / assembly
NS Night sights K Bestimmungen des Waffengesetzes beachten (Erwerb, Beschuss) /
PS Phosphor sights subject to firearms law
R Round / Patrone

Stand: 16.06.2020

AM 19594

Seite 13 von 15



Q5 Match SF 283 03 37
9mmx 19,9 mm x 21 Rev. q
IFE?)’sn.#Nr. :ft’;'il.(#e I-NF. Benennung Designation PG
32.9 2821362 | Gewindestift M3x5 Pin M3x5 A
33 2851415 | Magazin 9 mm 15+2R Steel Vintage Magazine 9 mm 15+2R steel Vintage Z
36 2795094 | Magazinhalter Magazine release P
38 2851407 | Griffschale SF Holz Nuss Grip panel, wood
38.1 2830493 | Schraube zur Griffschale Screw, grip panel A
39 2697904 | Zubringer Follower A
40 2795116 | Magazingehduse AFC Magazine tube AFC Y
41 2784807 | Bodenhalter +2 Magazine butt plate keeper +2 C
42 2851423 | Magazinboden +2 Stahl Vintage Magazine butt plate +2 steel Vintage
43 2786508 | Magazinfeder +2 Magazine spring +2 A
52 2851431 | Magwell Stahl Vintage Flared Magwell steel Vintage
284 64 03 Q5 Match SF Vintage 10R 9x19 INT
(modellspezifische Teile / model-specific parts)
IFE?J’;#NL :::t’;'l;(#e I-NF. Benennung Designation PG
1.2 2846853 | Korn LPA Front sight, LPA
3 - Nicht als Ersatzteil verfiigbar No spare part available
8 2742976 | Visier LPA TR28SS07 Rear sight, LPA TR28SS07 o1
16 2624338 | Abzugfeder Trigger return spring D
19 2830469 |Lauf 9x19 5" ET" Barrel 9x19 5” ET X1
24 2846349 | Dynamic Performance Abzug schwarz Dynamic Performance trigger black M1
29 - Nicht als Ersatzteil verfligbar No spare part available
32 2849542 | Dynamic Performance Abzuggehause kpl | Dynamic Performance sear housing assembly H1
32.3 2840758 | Expert Fangstiick Expert single action sear J
32.5 2821320 | Abzuggehause einstellbar Adjustable sear housing X
32.9 2821362 | Gewindestift M3x5 Pin M3x5 A
33 2841002 | Magazin 9 mm 10R Alu schwarz Magazine 9 mm 10R alu black VA
36 2795094 | Magazinhalter Magazine release P
38 2851407 | Griffschale Holz Nuss Grip panel, wood
38.1 2830493 | Schraube zur Griffschale Screw, grip panel A
39 2697904 | Zubringer Follower A
40 2795116 | Magazingehduse 10R AFC Magazine tube 10R AFC Y
41 2784807 | Bodenhalter +2 Magazine butt plate keeper +2 C
42 2840944 | Magazinboden -5 Alu schwarz Magazine butt plate -5 alu black
43 2786508 | Magazinfeder +2 Magazine spring +2 A
52 2851431 | Magwell Stahl Vintage Flared Magwell steel Vintage
284 64 11 Q5 Match SF Vintage 9x21 INT
(modellspezifische Teile / model-specific parts)
IFE?J’;#NL :::t’;'l;(#e I-NF. Benennung Designation PG
1.2 2846853 Korn LPA Front sight, LPA N
3 - Nicht als Ersatzteil verfiigbar No spare part available
8 2742976 | Visier LPA TR28SS07 Rear sight, LPA TR28SS07 o1
16 2624338 | Abzugfeder Trigger return spring D
19 2841193 |Lauf 9x21 5" ET" Barrel 9x21 5” ET X1
Legende:
AFC  Anti Friction Coating ET Ersatzteil mit Waffennummer / spare part with serial number
AM Ambidextrous kpl. komplett / assembly
NS Night sights K Bestimmungen des Waffengesetzes beachten (Erwerb, Beschuss) /
PS Phosphor sights subject to firearms law
R Round / Patrone

Stand: 16.06.2020

AM 19594

Seite 14 von 15



Q5 Match SF 283 03 37
9mmx 19,9 mm x 21 Rev. q
IFE?JZ’.#Nr. :%.7(#9 I-NF. Benennung Designation PG
24 2846349 | Dynamic Performance Abzug schwarz Dynamic Performance trigger black M1
29 - Nicht als Ersatzteil verfligbar No spare part available
32 2849542 | Dynamic Performance Abzuggehause kpl | Dynamic Performance sear housing assembly H1
32.3 2840758 | Expert Fangstlick Expert single action sear J
32.5 2821320 | Abzuggehduse einstellbar Adjustable sear housing X
32.9 2821362 | Gewindestift M3x5 Pin M3x5 A
33 2851415 | Magazin 9 mm 15+2R Steel Vintage Magazine 9 mm 15R steel Vintage Z
36 2795094 | Magazinhalter Magazine release P
38 2851407 | Griffschale SF Holz Nuss Grip panel, wood
38.1 2830493 | Schraube zur Griffschale Screw, grip panel A
39 2697904 | Zubringer Follower A
40 2795116 | Magazingehause AFC Magazine tube AFC Y
41 2784807 | Bodenhalter +2 Magazine butt plate keeper +2 C
42 2851423 | Magazinboden +2 Stahl Vintage Magazine butt plate +2 steel Vintage
43 2786508 | Magazinfeder +2 Magazine spring +2 A
52 2851431 | Magwell Stahl Vintage Flared Magwell steel Vintage
284 98 61 Q5 Match SF Black Ribbon 9x19 INT
(modellspezifische Teile / model-specific parts)
gi,:.#Nr. Zi’t’;'i;(#e I-Nr. Benennung Designation PG
1.2 2814285 | Korn LPA rot Fiber 2.9 Front sight, LPA Fiber Optic 2.9 Z
3 2830361 | Verschluss 9 mm x 19 ET" Slide 9 mm x 19 ET M2
8 2742976 | Visier LPA TR28SS07 Rear sight, LPA TR28SS07 o1
16 2624338 | Abzugfeder Trigger return spring D
19 2830469 |Lauf 9x195” ET" Barrel 9x19 5" ET X1
24 2846349 | Dynamic Performance Abzug schwarz Dynamic Performance trigger black M1
29 2830345 | Griffstiick ET" Frame ET Y2
32 2849542 | Dynamic Performance Abzuggehause kpl | Dynamic Performance sear housing assembly H1
32.3 2840758 | Expert Fangstick Expert single action sear J
32.5 2821320 | Abzuggehduse einstellbar Adjustable sear housing X
32.9 2821362 | Gewindestift M3x5 Pin M3x5 A
33 2849897 | Magazin 9 mm 15+3R Alu schwarz Magazine 9 mm 15+3R alu black Z
36 2846012 Magazinhalter extended, rund, schwarz Magazine release extended, round, black E1
71 2626535 | Magazinhalterfeder Spring for magazine release
38 2846659 | Griffschale Alu schwarz Grip panel alu black 1
38.1 2846829 | Schraube zur Griffschale, schwarz Screw, grip panel, black C
39 2826755 | Zubringer Follower
40 2795116 | Magazingehause AFC Magazine tube AFC Y
41 2784807 | Bodenhalter +2 Magazine butt plate keeper +2 C
42 2833042 | Magazinboden +2 Alu schwarz Magazine butt plate +2 alu black 1
43 2786508 | Magazinfeder +2 Magazine spring +2 A
52 2833000 | Magwell Alu schwarz Flared Magwell alu black J1
Legende:
AFC  Anti Friction Coating ET Ersatzteil mit Waffennummer / spare part with serial number
AM Ambidextrous kpl. komplett / assembly
NS Night sights K Bestimmungen des Waffengesetzes beachten (Erwerb, Beschuss) /
PS Phosphor sights subject to firearms law
R Round / Patrone

Stand: 16.06.2020

AM 19594

Seite 15 von 15




<<

  /ASCII85EncodePages false

  /AllowTransparency false

  /AutoPositionEPSFiles true

  /AutoRotatePages /None

  /Binding /Left

  /CalGrayProfile (Dot Gain 20%)

  /CalRGBProfile (sRGB IEC61966-2.1)

  /CalCMYKProfile (U.S. Web Coated \050SWOP\051 v2)

  /sRGBProfile (sRGB IEC61966-2.1)

  /CannotEmbedFontPolicy /Error

  /CompatibilityLevel 1.4

  /CompressObjects /Tags

  /CompressPages true

  /ConvertImagesToIndexed true

  /PassThroughJPEGImages true

  /CreateJobTicket false

  /DefaultRenderingIntent /Default

  /DetectBlends true

  /DetectCurves 0.0000

  /ColorConversionStrategy /CMYK

  /DoThumbnails false

  /EmbedAllFonts true

  /EmbedOpenType false

  /ParseICCProfilesInComments true

  /EmbedJobOptions true

  /DSCReportingLevel 0

  /EmitDSCWarnings false

  /EndPage -1

  /ImageMemory 1048576

  /LockDistillerParams false

  /MaxSubsetPct 100

  /Optimize true

  /OPM 1

  /ParseDSCComments true

  /ParseDSCCommentsForDocInfo true

  /PreserveCopyPage true

  /PreserveDICMYKValues true

  /PreserveEPSInfo true

  /PreserveFlatness true

  /PreserveHalftoneInfo false

  /PreserveOPIComments true

  /PreserveOverprintSettings true

  /StartPage 1

  /SubsetFonts true

  /TransferFunctionInfo /Apply

  /UCRandBGInfo /Preserve

  /UsePrologue false

  /ColorSettingsFile ()

  /AlwaysEmbed [ true

  ]

  /NeverEmbed [ true

  ]

  /AntiAliasColorImages false

  /CropColorImages true

  /ColorImageMinResolution 300

  /ColorImageMinResolutionPolicy /OK

  /DownsampleColorImages true

  /ColorImageDownsampleType /Bicubic

  /ColorImageResolution 300

  /ColorImageDepth -1

  /ColorImageMinDownsampleDepth 1

  /ColorImageDownsampleThreshold 1.50000

  /EncodeColorImages true

  /ColorImageFilter /DCTEncode

  /AutoFilterColorImages true

  /ColorImageAutoFilterStrategy /JPEG

  /ColorACSImageDict <<

    /QFactor 0.15

    /HSamples [1 1 1 1] /VSamples [1 1 1 1]

  >>

  /ColorImageDict <<

    /QFactor 0.15

    /HSamples [1 1 1 1] /VSamples [1 1 1 1]

  >>

  /JPEG2000ColorACSImageDict <<

    /TileWidth 256

    /TileHeight 256

    /Quality 30

  >>

  /JPEG2000ColorImageDict <<

    /TileWidth 256

    /TileHeight 256

    /Quality 30

  >>

  /AntiAliasGrayImages false

  /CropGrayImages true

  /GrayImageMinResolution 300

  /GrayImageMinResolutionPolicy /OK

  /DownsampleGrayImages true

  /GrayImageDownsampleType /Bicubic

  /GrayImageResolution 300

  /GrayImageDepth -1

  /GrayImageMinDownsampleDepth 2

  /GrayImageDownsampleThreshold 1.50000

  /EncodeGrayImages true

  /GrayImageFilter /DCTEncode

  /AutoFilterGrayImages true

  /GrayImageAutoFilterStrategy /JPEG

  /GrayACSImageDict <<

    /QFactor 0.15

    /HSamples [1 1 1 1] /VSamples [1 1 1 1]

  >>

  /GrayImageDict <<

    /QFactor 0.15

    /HSamples [1 1 1 1] /VSamples [1 1 1 1]

  >>

  /JPEG2000GrayACSImageDict <<

    /TileWidth 256

    /TileHeight 256

    /Quality 30

  >>

  /JPEG2000GrayImageDict <<

    /TileWidth 256

    /TileHeight 256

    /Quality 30

  >>

  /AntiAliasMonoImages false

  /CropMonoImages true

  /MonoImageMinResolution 1200

  /MonoImageMinResolutionPolicy /OK

  /DownsampleMonoImages true

  /MonoImageDownsampleType /Bicubic

  /MonoImageResolution 1200

  /MonoImageDepth -1

  /MonoImageDownsampleThreshold 1.50000

  /EncodeMonoImages true

  /MonoImageFilter /CCITTFaxEncode

  /MonoImageDict <<

    /K -1

  >>

  /AllowPSXObjects false

  /CheckCompliance [

    /None

  ]

  /PDFX1aCheck false

  /PDFX3Check false

  /PDFXCompliantPDFOnly false

  /PDFXNoTrimBoxError true

  /PDFXTrimBoxToMediaBoxOffset [

    0.00000

    0.00000

    0.00000

    0.00000

  ]

  /PDFXSetBleedBoxToMediaBox true

  /PDFXBleedBoxToTrimBoxOffset [

    0.00000

    0.00000

    0.00000

    0.00000

  ]

  /PDFXOutputIntentProfile ()

  /PDFXOutputConditionIdentifier ()

  /PDFXOutputCondition ()

  /PDFXRegistryName ()

  /PDFXTrapped /False



  /CreateJDFFile false

  /Description <<



    /BGR <>

    /CHS <FEFF4f7f75288fd94e9b8bbe5b9a521b5efa7684002000410064006f006200650020005000440046002065876863900275284e8e9ad88d2891cf76845370524d53705237300260a853ef4ee54f7f75280020004100630072006f0062006100740020548c002000410064006f00620065002000520065006100640065007200200035002e003000204ee553ca66f49ad87248672c676562535f00521b5efa768400200050004400460020658768633002>

    /CHT <FEFF4f7f752890194e9b8a2d7f6e5efa7acb7684002000410064006f006200650020005000440046002065874ef69069752865bc9ad854c18cea76845370524d5370523786557406300260a853ef4ee54f7f75280020004100630072006f0062006100740020548c002000410064006f00620065002000520065006100640065007200200035002e003000204ee553ca66f49ad87248672c4f86958b555f5df25efa7acb76840020005000440046002065874ef63002>

    /CZE <>

    /DAN <>

    /DEU <>

    /ESP <>

    /ETI <>

    /FRA <>

    /GRE <>



    /HRV (Za stvaranje Adobe PDF dokumenata najpogodnijih za visokokvalitetni ispis prije tiskanja koristite ove postavke.  Stvoreni PDF dokumenti mogu se otvoriti Acrobat i Adobe Reader 5.0 i kasnijim verzijama.)

    /HUN <>

    /ITA <>

    /JPN <FEFF9ad854c18cea306a30d730ea30d730ec30b951fa529b7528002000410064006f0062006500200050004400460020658766f8306e4f5c6210306b4f7f75283057307e305930023053306e8a2d5b9a30674f5c62103055308c305f0020005000440046002030d530a130a430eb306f3001004100630072006f0062006100740020304a30883073002000410064006f00620065002000520065006100640065007200200035002e003000204ee5964d3067958b304f30533068304c3067304d307e305930023053306e8a2d5b9a306b306f30d530a930f330c8306e57cb30818fbc307f304c5fc59808306730593002>

    /KOR <FEFFc7740020c124c815c7440020c0acc6a9d558c5ec0020ace0d488c9c80020c2dcd5d80020c778c1c4c5d00020ac00c7a50020c801d569d55c002000410064006f0062006500200050004400460020bb38c11cb97c0020c791c131d569b2c8b2e4002e0020c774b807ac8c0020c791c131b41c00200050004400460020bb38c11cb2940020004100630072006f0062006100740020bc0f002000410064006f00620065002000520065006100640065007200200035002e00300020c774c0c1c5d0c11c0020c5f40020c2180020c788c2b5b2c8b2e4002e>

    /LTH <>

    /LVI <>

    /NLD (Gebruik deze instellingen om Adobe PDF-documenten te maken die zijn geoptimaliseerd voor prepress-afdrukken van hoge kwaliteit. De gemaakte PDF-documenten kunnen worden geopend met Acrobat en Adobe Reader 5.0 en hoger.)

    /NOR <>

    /POL <>

    /PTB <>

    /RUM <>

    /RUS <>

    /SKY <>

    /SLV <>

    /SUO <>

    /SVE <>

    /TUR <>

    /UKR <>

    /ENU (Use these settings to create Adobe PDF documents best suited for high-quality prepress printing.  Created PDF documents can be opened with Acrobat and Adobe Reader 5.0 and later.)

  >>

  /Namespace [

    (Adobe)

    (Common)

    (1.0)

  ]

  /OtherNamespaces [

    <<

      /AsReaderSpreads false

      /CropImagesToFrames true

      /ErrorControl /WarnAndContinue

      /FlattenerIgnoreSpreadOverrides false

      /IncludeGuidesGrids false

      /IncludeNonPrinting false

      /IncludeSlug false

      /Namespace [

        (Adobe)

        (InDesign)

        (4.0)

      ]

      /OmitPlacedBitmaps false

      /OmitPlacedEPS false

      /OmitPlacedPDF false

      /SimulateOverprint /Legacy

    >>

    <<

      /AddBleedMarks false

      /AddColorBars false

      /AddCropMarks false

      /AddPageInfo false

      /AddRegMarks false

      /ConvertColors /ConvertToCMYK

      /DestinationProfileName ()

      /DestinationProfileSelector /DocumentCMYK

      /Downsample16BitImages true

      /FlattenerPreset <<

        /PresetSelector /MediumResolution

      >>

      /FormElements false

      /GenerateStructure false

      /IncludeBookmarks false

      /IncludeHyperlinks false

      /IncludeInteractive false

      /IncludeLayers false

      /IncludeProfiles false

      /MultimediaHandling /UseObjectSettings

      /Namespace [

        (Adobe)

        (CreativeSuite)

        (2.0)

      ]

      /PDFXOutputIntentProfileSelector /DocumentCMYK

      /PreserveEditing true

      /UntaggedCMYKHandling /LeaveUntagged

      /UntaggedRGBHandling /UseDocumentProfile

      /UseDocumentBleed false

    >>

  ]

>> setdistillerparams

<<

  /HWResolution [2400 2400]

  /PageSize [612.000 792.000]

>> setpagedevice



